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At2tH(17H/300~3509) 2,133 2,133 |- 0 0.00%
Bl (17H/650~700g) 2,831 3,079 |- 248 | -8.06%
2(17H/1kg) 1,612 1,707 |- 95| -5.55%
Hi 35 (12 7] /3kg) 3,099 2,851 248 8.69%
HIt(1FS/1kg/2H 7 A) 3,808 2,999 809 | 26.98%
20[(37H) 4,276 4539 |- 263 | -579%
EEAAD Y K| 07| (=42 E A /6009) 14364 | 14,728 |- 364 | -247%
(16Z2) St 7|(10k2]/1kg) 7,884 7,668 216 2.82%
2| 7] (=4/=HE[FX]|/155/6009) 37,138 | 34,242 | 2,896 8.46%
27| (=4t/&54/6009) 65,778 | 63,853 | 1,925 3.01%
SZF(1 /T EE/307H) 6,641 7218 |- 577 | -7.99%
Z7|(10F2] /= 4k/15em) 1,169 1,247 |- 78| -6.24%
ZX[(18k2| /= 4+/80cm) 8,303 6,646 | 1,657 | 24.93%
150/ (18t2]/=4t/30em) 4,133 3,440 693 | 20.16%
HE{(10F2|/2{ A|OFAt/40cm) 4,329 4,245 84 1.98%
23010t /3H-S/30cm) 4,696 5171 |- 475 | -9.19%
2 (20kg) 55,980 55,744 236 0.42%
e[ (=T 4/1kg) 3,348 3398 |- 50| -147%
LIH(1kg) 2,850 2,521 329 | 13.05%
7HObE(1kg) 11,935 12,670 |- 735 | -5.80%
LR (EEHE/1kg) 2,112 2,073 39 1.86%
E(12/300g/ LL/SEHF) 1,458 1,447 11 0.78%
WEHE *'R%m 8L/B7IE) 8,643 8,649 |- 6| -0.06%
(14E5) ZItE(1kg/= L Ah 28,553 28,809|- 256 | -0.89%
EHI"imkg/:?LHM) 10,739 11,093|- 354 | -3.19%
ZRH(1kg/=LH A 5,327 4,487 840 | 18.73%
5—Lr%mE/SOOg) 2,218 2261 |- 43| -191%
22211 1,597 1,585 12 0.73%
ZBSH(L) 1,582 1649 |- 67| -4.06%
Sa0L) 1,453 1475 |- 22| -151%
~ = 2F(1H 360me/204F) 1,488 1,474 14 0.95%
T O 2= (18 500me/2007H) 1,664 1,666 |- 2| -011%




